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Use separate Answer Script for each Group and mention the Group on Answer Script

afe etz o fon Tedea 9ale I W3R Teaditad Toie foist Srae +eal

Group-A
faetal-=

1. Answer any three questions from the following: 4x3 =12

fTafoie @-eEat foae ame Tea e

(a) ‘A firm in a perfectly competitive industry does not enjoy any monopoly
power.” — Explain why?
‘oif efferaiftea AwIE @ Seotine 2fep aFia FIe! (ot F90e Al 1° -
1, O A TN

(b) What is meant by externality in consumption? Can you explain this concept
with the help of a suitable example?

(OI9R iRl FeT0e & @I 2 w3 el Srigae stegie [EafG e e
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(¢) Suppose an investor is concerned about business choice in which there are
three prospects — the returns and probabilities are furnished below:

Returns | Probability
Rs. 100 0.2
Rs. 50 0.4
Rs. 25 0.4

What is the expected value of returns of this uncertain investment?

[ IF, gve REEEFR 9w gt R v Fe aw o0 TS
AR TSI | ST @ O TSR N red 213

effoni | ISR
1005 | 0.2
500 | 04
255 | 0.4
Hfafoe Jiacite eenfe s i o

(d) Explain the meaning of Nash-equilibrium. How is this concept relevant in an
oligopoly market?

Nash SRHAICHE Q7enfs 717 a1 wiesi#if arei ey W «3 gz’
oI awgsyf o

(e) Distinguish between rent and quasi-rent.
el S - 3 2N (7S |

2. Answer any one question from the following:
e @-ie @5 2ieas Tee mas

(a) Show with an example from the insurance market how adverse selection
leads to crowding out of high quality items by low quality items.

A Mism Srleem M Ate e g e v FENeR o9
THIR T A (AT [oifde 71
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(b) Is the existence of excess capacity an inevitable phenomenon in the
monopolistic-competitive market?

GFEHA AfTRITOR ISR SfeRe Berliva Faoi B & s 9

(c) Show that the firm that sets output first, have an advantage in the
Stackelberg’s duopoly model.

@8 @, Beoe &AfSPR O Beoivel 2t 37 9, Stackelberg’s T

A (T2 eifepin wfsfie Rt g 2
3. Answer any fweo questions from the following: 15%x2 =30
famfeiRie (-ical 715 2o Sew whes
(a) (1) What is conjectural variation in determination of equilibrium under 5
oligopoly?
(1) Explain the output and price determination in a model with a dominant 6+4

firm and a competitive fringe. Does dominant firm still have effective
power to set the price if the supply curve of the competitive fringe is
horizontal?

36 S A 4T T 8 SERY PRI AN T Geows oS
At Feoira 7y e Frae ez (v i i, o orate 3R
SRRl TR TNES @t @G Sesive Srwa SN 2, O
T wi A diaem CFig e Tfa Fifed) wwel [ weiffafee e o

(b) Derive the budget line of an investor facing a choice between a risky asset 15
and a risk-free asset using standard deviation as a measure of riskness. Show
the equilibrium of a risk-averse person using indifference curve under the
above situation.

g RiEIRE g =i ¢ s Ty Ass @ e e 2 7@ e/
i e Ryfes e «fsise wet @ 2 2 aowg R [yt [T
w7 ¢ e ey o e fdfadt 303 ©f fFReers @RiR TRey e 3@t
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(c) “Pareto optimality is a necessary but not a sufficient condition for welfare
maximisation.” — Justify the statement.

“srifers Serriel FiRFRCer T SR TN T LA *, LT 2 7|
— Sfeba geitde! tan Fe

(d) Write short notes on any #woe from the following:

oo @-coial 757 Bt ke Bt s

(1) Two person zero sum game
it 3T = @iower Srol

(i1) Perceived demand curve & proportional demand curve
e pifzwl @2l e e SRR sifEnt @

(111) Natural monopoly.

el gpeoioal FiaaF |

Group-B
Retat-4
4. Answer any three questions from the following:

faferiie @-ial foaf5 aita Teq wies
(a) What is meant by aggregate demand externality?

e SifEwE ifEFel @ire & @R 2
(b) What is the basic idea of the Rational Expectation Theory? — Explain.
(oG eenl rea 51 aiFel 17 S|

(c) What are the alternative definitions of money supply?

ol et R Teeeefe & & 9

(d) Do you think that unanticipated inflation has a greater impact than
anticipated inflation?

i & 5 a1 S JErRife il Ereifs s @ wioare o 2
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(¢)

(a)

What is Fisher Effect? — Explain.
e erer 1 ¢ i Tt

Answer any one question from the following:
fasfeie @-coAl ¥ 5 e Tea wss

How intertemporal substitution of labour may cause fluctuations in output
and employment as pointed out by real business cycle theories?

2o qferve ©rg (G Beviive 8 [N SoNmIE [FeiE e S8
RIS AR AT T4 T 9

(b) Explain how co-ordination failure may lead to recession.

(c)

(a)

(b)

AR el ol i 318 F0e ANt o Wiy @A |

“Money supply is proportional to monetary base.” — Explain the statement
by identifying the factors of proportionality.

“ordy @i e fofe Spnfes 1 - wmeiten Semmett & & el
efica e il T

Answer any two questions from the following:
fsiiRe @~ 76 eivsm Sea wias

What does the Phillips curve say? Derive the Phillips curve from the
aggregate supply curve and explain the relationship between unanticipated
inflation and cyclical unemployment. When does the Phillips curve shift?

fefeept @i woiee & Q@i ¢ i e @@ @ice Refereis @i frmt et
GR SIS JAFFIS @ ST [RRCGH N F91 (7l | Refarefsy @l 34 iy
RSN I 9

Explain how the Life Cycle Hypothesis attempt to explain the short run
variability and long run constancy of Average Propensity to Consume
(APC). What are the limitations of the theory?

T (SPieFToR FTRFHN ARTSTNeTel ¢ NEFE RRoi ST e dfvwsa
AR FIG I 92 2 SFTER MRl & & o

8x1 =8

15%x2 =130

2+8+5
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(c) What is meant by regressive expectation? Why the individual speculative 3+12
demand is a step function while the aggregate demand function for money is
downward sloping?

TeifeNer eoil e & @RI =W 2 @& e Jioore Thawive
SifRwiaif dieige 27 73 ANfas W SifEniERI wenes Aoy 2w AT 9

(d) Show that business fixed investment depends on marginal product of capital, 12+3
the cost of capital and the amount of depreciation. In this respect do you
think that the interest rate has any role in the determination of investment?
Justify your answer.

w8 @ fdfere Fa Riaws T aifes Seoims, ErEs T8 9R SRR
Toig [Wor I @3 sifcefre o & W s@ @ Rivcaer sifamier M
R QTR (T P R 2 (ST T8 40 e wie )
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Candidates should answer in their own words NI [T I I TSI AN
and adhere to the word limit as practicable. a7 1

Use separate Answer Book for each Group and mention the Group on Answer Book

eifsfe [erea wa o9% Teadla I32/F 303! 43¢ Tea=1tad &7 [Iers Sugd #!

Group-A
o=

1. Answer any three questions within 100 words each from the following: 4x3 =12

faERe @-@ foal arse Seq afefd Soo it wigay wies

(a) Explain the concept of surplus labour as put forward by Amartya Sen.
SIS] (AR (RS Tge TR Qielis i Seat|
(b) What do you mean by Incremental capital-output ratio?
‘2N Jor-TeoAe SN’ 0 & @Ieal 2
(c) Explain the indivisibilities mentioned in ‘Big-push’ theory.
‘T2 4IF Org @ WRoeTeieler T Srad T 2AC IR A FE!N
(d) What is meant by ‘Tragedy of Commons’?
TR REses sikafs’ s & @R 9

Turn Over
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(e)

(b)

(c)

(a)

(b)

2046

How can you distinguish between pre-conditions for take-off and take-off
stages?

BT o7 ST @ T o1 — @3 3 W W RSl A1 9 9

Answer any one question from the following:
s @-coia @3 fo 2ivem Tea wies

“Per-capita income may be used as starting point for classifying levels of
development.”’— Explain the statement.

TR B EARVIOR (g NRAPg W @l 5goa1 B oo a1 @
AR 1" — Q2 & Pt e

Can population pressure inevitably result in low level equilibrium trap in
any less developed country? — Explain.

(I FCEIRS (T SR b1 6 fooeie s s win 58 5 0
— N A

Distinguish between the average and marginal capital output ratio. Is
marginal capital-output ratio a useful concept in development planning?

TG eTHN-TH T’ ¢ ‘eifeF EH-Beoly Sepiie’-aq W A el
T ARSI JeA-BATER AT 4790 5 @b etcareria gimel ¢

Answer any two questions from the following:
IS -l 75 ariw Saa wies

Critically discuss Rostow’s theory of stages of economic growth. What
purpose it serves by defining stages of growth?

weT Rte #fw i a5 wel s Rye @l wdafes
e ~1w s Sy & 9

Show that creation of urban employment will not solve the unemployment
problem when rural labourers crowd in the urban areas in search of better
employment opportunities. What policies should be adopted by the
government to deal with the problem?

@dle (T TRowq RO (AT 73 ATy Wi zqiee O 3@, o3
Izt et R FHTe (e @ AT TG FACS A 1 4 T
TR FRIFICRE I ANS 2129 T2 Tow 9

8x1 =8

3+5

15x2 =30

10+5

9+6
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(¢) Distinguish between the notions of ‘Economic Growth’ and ‘Economic 6+9
Development.” Explain the concept of ‘Human Development Index’ and
indicate why it is a qualitatively better measure of economic development
than per-capita income.

‘ftafes 2R ¢ AT Tarw’ @3 ufb qrRe sy #fiFy o s wea
T - GiReN i @ @R @ @b Ao Tmean sifawiers 2
g ST G BT Troed ©f folrd T

(d) Critically argue whether you accept the following statement: ‘Globalisation 15
has meant greener environment for developing countries.’

ey Faffre e aiel siesa 3@ - Refms Saaadler oreiafies

e AR e RV
Group-B
et
4. Answer any three questions within 100 words each from the following: 4x3 =12

e -l feaft @tea Tea 2o soo it Wy wies
(a) Distinguish between static and dynamic gains from trade.
HreTfos Aifarera Fe ¢ s8R FTed e A T
(b) What do you mean by ‘Infant Industry argument for protection’?
“Peis- s seeECer e TeTce 6 @i 2
(¢c) What is Prebish-Singer thesis?
(et ol 15 9
(d) What are the objectives of UNCTAD?
UNCTAD -&7 Srrsfyesfer i % 9
(e) What is multinational corporation?
TRElfed 3B FIS W 9
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5. Answer any one question from the following:
fsferire @-ie 15 aivs e wes

(a) Write a critical note on the role of FDI in economic development of less
developed countries.

FEiRe (riolR wids RS eerw R [Rfvaer stw Raw s
FAENBARETS b1l (BT

(b) Discuss the main functions of World Bank.
RETITET o1 SIS SNCEAE F |

(c) Discuss the need for economic planning in a less developed country.

JEIES (e ARG SifFaa ArareaiTe! R e

6. Answer any two questions from the following:
fosfeie @-wi 75 avim T was

(a) Do you believe that international trade acts as an ‘engine of growth’ for less
developed countries?

o fo et s @ Feame (iefee wwTifes aiftsy wdafes e e
A FIe F4 9

(b) Critically discuss the advantages and disadvantages of ‘transfer of
technology’ to less developed countries by multinational corporations.

RS (e JgEfes MR ‘oYfE wEER R ¢ welR Tor
FACESARETS A5 T

(c) Critically examine the policies of export-promotion and import-substitution
as a more effective means of development in LDCs.

FCET© (M0 THACR (AP0 FIIF Solznest ARfN-36w @ rmif afeziom -a3
92 NSq AT A S|

(d) How does the IMF help the member countries suffering from balance of
payment deficit in their current account? Have the objectives, for which IMF
was established, been successfully realised? Justify your answer with
arguments.

IMF F@Ita 7o) 2320 @T@me R vafe Aite 1i5fe A Sl Jgw
I AT 2 @ Srwes IMF ifde zrafee ot & sy wee 2o ¢ ome Sewd
T Y 7S |
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